
MATHS

BOOKS - PATHFINDER MATHS (BENGALI ENGLISH)

INDEFINITE INTEGRATION

Question Bank

1. Evaluate : 

Watch Video Solution

∫(√3 sinx − cos x)dx

2. Evaluate : 

Watch Video Solution

∫sec2(3x + 5)dx

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Ig3DWhO8sLvW
https://dl.doubtnut.com/l/_kK0R0FP68FNo


3. Find 

Watch Video Solution

∫cos 6x√1 + sin 6xdx

4. Evaluate : 

Watch Video Solution

∫
dx

2√x(x + 1)

5. Evaluate 

Watch Video Solution

∫ dx
sin(lnx)

x

6. 

Watch Video Solution

∫((x − a)(b − x))dx

https://dl.doubtnut.com/l/_HU1CPrfhChie
https://dl.doubtnut.com/l/_WvBoJh7pfgmE
https://dl.doubtnut.com/l/_PkhxF4HYLTqN
https://dl.doubtnut.com/l/_MZn7vygwTNS2


7. Evaluate : 

Watch Video Solution

∫
dx

(x + 3) (x − 4)
15
16

17
16

8. Evaluate: 

Watch Video Solution

∫
dx

(x + √x2 − 4)
5
3

9. Evaluate : 

Watch Video Solution

∫√4 − x)dx

10. Evaluate: 

Watch Video Solution

∫(cos x − sinx)(3 + 4 sin 2x)dx

https://dl.doubtnut.com/l/_8AMzG8wTLWwo
https://dl.doubtnut.com/l/_ffKUl8EJNLv7
https://dl.doubtnut.com/l/_AOYVroNxWwIl
https://dl.doubtnut.com/l/_3TzqqS9K85oI


11. Evaluate: 

Watch Video Solution

∫ dx
√x

√x3 + a3

12. Evaluate: 

Watch Video Solution

∫ dx
sinx + cos x

9 + 16 sin 2x

13. Evaluate: 

Watch Video Solution

∫x
dx

1 + x4

14. Evaluate: 

Watch Video Solution

∫(x4 + 1 + 5x2)dx

https://dl.doubtnut.com/l/_dUFfTf6wjCHk
https://dl.doubtnut.com/l/_wYRfayYVKZfP
https://dl.doubtnut.com/l/_YqfhXSnr7qBq
https://dl.doubtnut.com/l/_R1lCBAMZlsbc


15. Find 

Watch Video Solution

∫
sin 2x cos 2xdx

√9 − cos4(2x)

16. Evaluate: 

Watch Video Solution

∫ dx
14

sin2
x + cos4 x

17. Evaluate: 

Watch Video Solution

∫
dx

2 sinx + secx

18. Evaluate: 

Watch Video Solution

∫x2 sinxdx

https://dl.doubtnut.com/l/_eoeSijUq7OZO
https://dl.doubtnut.com/l/_JG2Duwzi1Rd0
https://dl.doubtnut.com/l/_ABFom7QrMEBG
https://dl.doubtnut.com/l/_9yo4OoliBrxD


19. Evaluate: 

Watch Video Solution

∫sin− 1( )dx
2x + 2

√4x2 + 8x + 13

20. Evaluate: 

Watch Video Solution

∫Inxdx

21. 

Watch Video Solution

∫ dx
x2

(x sinx + cos x)2

22. Evaluate: 

Watch Video Solution

∫( )
2

exdx
x − 1

x2 + 1

https://dl.doubtnut.com/l/_5MQpXv9IlVA3
https://dl.doubtnut.com/l/_qu6WW56gunk9
https://dl.doubtnut.com/l/_LDLmkrRkqclX
https://dl.doubtnut.com/l/_qCRgxe2ejZOc


23. Evaluate: 

Watch Video Solution

∫ dx
(√x2 + 1){In(x2 + 1) − 2Inx}

x4

24. Evaluate: 

Watch Video Solution

∫
dx

(x − 1)(x − 3)

25. Evaluate: 

Watch Video Solution

∫
dx

(x + 2)(x2 + 1)

26. Find 

Watch Video Solution

∫
x4dx

(x − 1)(x2 + 1)

https://dl.doubtnut.com/l/_nHm13xLAL1Wr
https://dl.doubtnut.com/l/_pHvmETWKhVtF
https://dl.doubtnut.com/l/_opeKBI9Ggu91
https://dl.doubtnut.com/l/_uVTitnui25pK


27. Evaluate: 

Watch Video Solution

∫
x4dx

(x − 1)(x + 1)2

28. `int (x^4 - 3x^2 - 3x -2)/(x^3 - x^2 - 2x) dx

Watch Video Solution

29. Find 

Watch Video Solution

∫ dx
x2 + x + 1

(x + 2)(x2 + 1)

30. 

Watch Video Solution

∫ dx
x3 + 3x + 2

(x2 + 1)2(x + 1)

https://dl.doubtnut.com/l/_JXaOgeGhNtKl
https://dl.doubtnut.com/l/_7WT4pWwQI5g3
https://dl.doubtnut.com/l/_lTDYYQky9Ycj
https://dl.doubtnut.com/l/_SHsuI6DrIhEU


31. Evaluate:

Watch Video Solution

∫
dx

(x − b)
3
(x − a)

2

32. Evaluate: 

Watch Video Solution

∫
dx

√−x2 + 4x + 6

33. Evaluate: 

Watch Video Solution

∫√3x2 − 6x + 10dx

34. Evaluate:

Watch Video Solution

∫ dx
3x + 5

√x2 + 4x + 3

https://dl.doubtnut.com/l/_0lF7HgTFVlme
https://dl.doubtnut.com/l/_8GoBGQ8yP8wk
https://dl.doubtnut.com/l/_djaJwbx73LFp
https://dl.doubtnut.com/l/_cplQisOObCLh


35. Evaluate: 

Watch Video Solution

∫
dx

(x + 2)√x2 + 4x + 8

36. Evaluate:

Watch Video Solution

∫
4x + 7

(x + 2)√x24x + 8

37. Evaluate: 

Watch Video Solution

∫
2x2 + 7x11

(x + 2)√x2 + 4x + 8

38. Evaluate: 

Watch Video Solution

∫ )
xdx

√x2 − 1

https://dl.doubtnut.com/l/_IPSazaMOj2Zf
https://dl.doubtnut.com/l/_1ETq8legoylI
https://dl.doubtnut.com/l/_C1uYo65JBDlW
https://dl.doubtnut.com/l/_cKShff1uJ6lt


39. Evaluate: 

Watch Video Solution

∫
dx

x2 + 5

40. Evaluate: 

Watch Video Solution

∫x− (1 + x )
− 1

dx
2
3

2
3

41. Evaluate: 

Watch Video Solution

∫x− (1 + x ) dx
2
3

1
3

1
4

42. 

Watch Video Solution

∫x− 11(1 + x4)
−

dx
1
2

43. Evaluate: ∫ dthη
2 + 3 cos θ

sin θ + 2 cos θ + 3

https://dl.doubtnut.com/l/_yRroY81nNA4k
https://dl.doubtnut.com/l/_MXjo0S12A9ae
https://dl.doubtnut.com/l/_69JLNYzTjeAV
https://dl.doubtnut.com/l/_NWq5qEG0m4NB
https://dl.doubtnut.com/l/_M3yefePltH0j


Watch Video Solution

44. Evaluate: 

Watch Video Solution

∫ dx
3 sinx + 2 cos x

3 cos x + 2 sinx

45. Evaluate: 

Watch Video Solution

∫sin3 x cos5 xdx

46. Evaluate: 

Watch Video Solution

∫sin3 x cos5 xdx

47. Evaluate: 

Watch Video Solution

∫sin− x cos xdx
11
3

5
3

https://dl.doubtnut.com/l/_M3yefePltH0j
https://dl.doubtnut.com/l/_zg4CTXbya1OQ
https://dl.doubtnut.com/l/_bnW7t0pyFo79
https://dl.doubtnut.com/l/_bG2qkYXXXnxE
https://dl.doubtnut.com/l/_7WkK9A3MGlba
https://dl.doubtnut.com/l/_BMAqAESBfv4i


48. If  where f(x) =

Watch Video Solution

In = ∫sinn xdxthennIn − (n − 1)In− 2 = f(x) + c

49. 

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

∫ dx
ax − bx

axbx

( )
x

+ x + c
a

b

(ab)x − x + c

ax + bx + x + c

50. 

A. log (c tan x)

∫(tanx + cot x)dx

https://dl.doubtnut.com/l/_BMAqAESBfv4i
https://dl.doubtnut.com/l/_xirnQHjllRVs
https://dl.doubtnut.com/l/_KHlKJOvGP7IC


B. log (sin x + cos x) + c

C. log (cx)

D. none of these

Answer: A

Watch Video Solution

51. Evaluate 

Watch Video Solution

∫(cos 2x − sin 4x)dx

52.  =

A. tan x + x + c

B. tan x - x + c

C. sinx - x + c

D. sinx + x + c

∫ dx
1 − cos 2x

1 + cos 2x

https://dl.doubtnut.com/l/_KHlKJOvGP7IC
https://dl.doubtnut.com/l/_9jYrjTOY9OFI
https://dl.doubtnut.com/l/_MYBqRLB1AVA4


Answer: B

Watch Video Solution

53.  =

A. 4 tan x - sec x + c

B. 4 tan x + 5 sec x + c

C. 9 tan x + c

D. none of these

Answer: B

Watch Video Solution

∫ dx
4 + 5 sinx

cos2 x

54. Evaluate 

Watch Video Solution

∫ dx
cos x

1 + sinx

https://dl.doubtnut.com/l/_MYBqRLB1AVA4
https://dl.doubtnut.com/l/_j0jfShha47kT
https://dl.doubtnut.com/l/_QeA4fdDnLrRe


55. 

Watch Video Solution

∫ dx
(sin− 1 x)

2

√1 − x2

56. Evaluate 

Watch Video Solution

∫ dx
dx

ex + e−x

57. Evaluate 

Watch Video Solution

∫√ dx
a + x

a − x

58. 

Watch Video Solution

∫
dx

(1 + x2)√p2 + q2(tan− 1 x)
2

https://dl.doubtnut.com/l/_Z7xE36QvRi9r
https://dl.doubtnut.com/l/_Xci0HVhmN0Yl
https://dl.doubtnut.com/l/_5s993jtwze6w
https://dl.doubtnut.com/l/_VNXB6cCsRBSz


59. 

Watch Video Solution

∫ dx
x sin− 1 x

√1 − x2

60. 

Watch Video Solution

∫(logx)2
dx

61. 

Watch Video Solution

∫sin− 1 2xdx

62. 

Watch Video Solution

∫ex( )dx
sinx + cos x

cos2 x

63. ∫x2 tan3(x3)sec2(x3)dx

https://dl.doubtnut.com/l/_ydBa7Khwa4OO
https://dl.doubtnut.com/l/_9lJVeAWS74xK
https://dl.doubtnut.com/l/_vXRAPwLbRSlC
https://dl.doubtnut.com/l/_MiLAd8Ym5LjD
https://dl.doubtnut.com/l/_PHYUGuN03Hek


Watch Video Solution

64. 

Watch Video Solution

∫
dx

(x − 3)√x + 7

65.  =

Watch Video Solution

∫
dx

(2 + x)√1 + x

66. Find the value of 

Watch Video Solution

∫ dx
√1 + x2

1 − x2

67. Prove that  where x + 1 =

Watch Video Solution

∫ = 2∫
dx

(x2 − 4)√x + 1

dt

(t2 − 3)(t2 + 1)
t2

https://dl.doubtnut.com/l/_PHYUGuN03Hek
https://dl.doubtnut.com/l/_OQhwGjzSPxB8
https://dl.doubtnut.com/l/_6wUdE7xQjZ6G
https://dl.doubtnut.com/l/_lHpsekP4pajG
https://dl.doubtnut.com/l/_3wo5jKvGOc3e


68. 

Watch Video Solution

∫
dx

5 + 4 cos x

69. Evaluate 

Watch Video Solution

∫
dx

sinx cos x

70. Evaluate 

Watch Video Solution

∫
dx

√1 + sinx

71. Find the reduction for `I_m,n = int (sin x)^m (cos x)^n dx

Watch Video Solution

72. Find the reduction formula for In = ∫(a2 − x2)
n
dx

https://dl.doubtnut.com/l/_893FDOWxumCX
https://dl.doubtnut.com/l/_95XBMHIPyN4U
https://dl.doubtnut.com/l/_pQZwYPxBDvGw
https://dl.doubtnut.com/l/_o5MDSCb6HMN7
https://dl.doubtnut.com/l/_Wc3Am0KgCvvF


Watch Video Solution

73. =?

Watch Video Solution

∫
dx

3 + sin2 x

74. 

Watch Video Solution

∫ dx
sinx

sinx − cos x

75. 

Watch Video Solution

∫ dx
sinx

a sinx + b cos x

76. =?

Watch Video Solution

∫
dx

1 + e−x

https://dl.doubtnut.com/l/_Wc3Am0KgCvvF
https://dl.doubtnut.com/l/_r1DcnD4dzHev
https://dl.doubtnut.com/l/_I5LxfUIoTz2M
https://dl.doubtnut.com/l/_QFKQgaHWQf0S
https://dl.doubtnut.com/l/_eMZ7K7ThDDOt


77.  =

A.  + c

B.  + c

C.  + c

D. None of these

Answer: A

Watch Video Solution

∫x(xx)x(2 logx + 1)dx

(xx)x

log(x)x

xx

78. If  + c then A, B

are respectively

A. -1/9 , -1/9

B. 1/9 , 1/9

C. 1/3 , -1/9

∫ dx = A√1 − 9x2 + B(cos − 1 3x)
3x + (cos − 1 3x)

2

√1 − 9x2

https://dl.doubtnut.com/l/_Y6GZeOwlTl5Q
https://dl.doubtnut.com/l/_kpV987aJeXXk


D. None of these

Answer: A

Watch Video Solution

79.  =

A.  + c

B.  + c

C.  + c

D. None of these

Answer: A

Watch Video Solution

I = ∫ dx
1

(x + a) (x − b)
8
7

6
7

( )
7

a + b

x − b

x + a

1
7

( )
7

a − b

x − b

x + a

1
7

( )
7

a − b

x + a

x − b

1
7

80.  is equal to∫√secx − 1dx

https://dl.doubtnut.com/l/_kpV987aJeXXk
https://dl.doubtnut.com/l/_9RSqr8SPtKsq
https://dl.doubtnut.com/l/_bGWXIvc9Q8yx


A.  + c

B.  + c

C.  + c

D. None of these

Answer: C

Watch Video Solution

2 log
∣
∣
∣

+ √ −
∣
∣
∣

cos x
2

cos2 x

2

1

2

log
∣
∣
∣

+ √ −
∣
∣
∣

cos x
2

cos2 x

2

1

2

−2 log
∣
∣
∣

+ √ −
∣
∣
∣

cos x
2

cos2 x

2

1

2

81. If = K (gof)(x) + c` , then

A. a) g(x) =

B. b) 

C. c) 

D. d) None of these

Answer: A

Watch Video Solution

∫
dx

x√5x2 − 3

tan− 1 x, f(x) = √ x2 − 1, K =
5

3

1

√3

g(x) = √ x2 − 1, f(x) = tan− 1 x, K =
5

3

1

√3

g(x) = tan− 1 x, f(x) = √5x2 − 3, K =
1

2

1

√5

https://dl.doubtnut.com/l/_bGWXIvc9Q8yx
https://dl.doubtnut.com/l/_C77TDuJUri0J


82. If  and g(x) = sin x then 

A.  + c

B.  + c

C.  + c

D. None of these

Answer: A

Watch Video Solution

f(x) =
x2

1 + x2
∫(log)(x)cos xdx =

sinx − tan− 1(sinx)

cos x − tan− 1(sinx)

cos x + tan− 1(sinx)

83. Evaluate: 

A. 

B. 

C. 

∫(√tanx + √cot x)dx

√2 tan− 1( )
tanx

√2 tanx

√2 tan− 1( )
tanx − 1

√2 tanx

tan− 1( )
tanx

√2

cot x + 1

√2 tanx

https://dl.doubtnut.com/l/_C77TDuJUri0J
https://dl.doubtnut.com/l/_g4pFPBvSmss7
https://dl.doubtnut.com/l/_5Qy7z9LOybOC


D. 

Answer: B

Watch Video Solution

tan− 1( )
tanx

√2

cot − 1

√2 cot x

84.  dx is

Watch Video Solution

∫(x2 + 4x + 2)

85.  + c then A is

A. 1/1000

B. 1000

C. 999

D. None of these

Answer: A

∫ = A[In|x|
1000

− In∣∣x
1000 + 1∣∣]

dx

x(x1000 + 1)

https://dl.doubtnut.com/l/_5Qy7z9LOybOC
https://dl.doubtnut.com/l/_F7LuoCo18xdS
https://dl.doubtnut.com/l/_LfRYHErHvqV4


Watch Video Solution

86.  + c

A. 2

B. 1

C. -1

D. None of these

Answer: B

Watch Video Solution

∫ = k log
∣
∣
∣
tan− 1( )

∣
∣
∣

(x2 − 1)dx

(x4 + 3x2 + 1)tan− 1( )x2 + 1
x

x2 + 1

x

87. If  then A =

A. 1

B. 2

∫ dx = A√cot x + B
√cot x

sinx cos x

https://dl.doubtnut.com/l/_LfRYHErHvqV4
https://dl.doubtnut.com/l/_475961xlkAHg
https://dl.doubtnut.com/l/_72BAanXUzt8u


C. -1

D. -2

Answer: D

Watch Video Solution

88.  is

A. f/g'

B. f'g - fg'

C. fg' - f'g

D. None of these

Answer: C

Watch Video Solution

∫ [f(x)g(x) - f(x)g(x)]dx

https://dl.doubtnut.com/l/_72BAanXUzt8u
https://dl.doubtnut.com/l/_ha8Gn2FetKnV


89. Evaluate:  is =?

Watch Video Solution

∫
(x2 − 1)dx

(x4 + x2 + 1)

90.  dx is

A.  + c

B.  + c

C. 

D. None of these

Answer: A

Watch Video Solution

∫
ex(1 + x)

cos2(xex)

tan(xex)

tan− 1(xex)

√tan(xex) + c

91.  =∫
dx

(2 + x)√1 + x

https://dl.doubtnut.com/l/_eyVLEYqjrLHx
https://dl.doubtnut.com/l/_MAiaz0YWdsCp
https://dl.doubtnut.com/l/_kLffah5yeLk6


A.  + c

B.  + c

C.  + c

D.  + c

Answer: A

Watch Video Solution

2 tan− 1 √1 + x

tan− 1 √1 + x
1

2

tan− 1 √1 + x

log{(2 + x)√1 + x

92.  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫[In(Inx) + ]dx
1

(Inx)2

xIn(Inx) + + c
x

Inx

In(Inx) + + c
x

Inx

xIn(Inx) − + c
x2

Inx

xIn(Inx) − + c
x

Inx

https://dl.doubtnut.com/l/_kLffah5yeLk6
https://dl.doubtnut.com/l/_BVMgh175U1SB


Watch Video Solution

93. If  , then  is equal to

A. g(x)(f(x) + f'(x)) + c

B. g(x)(f(x) - f'(x)) + c

C. g(x)(f(x) f'(x)) + c

D. None of these

Answer: A

Watch Video Solution

∫g(x)dx = g(x) ∫g(x){f(x) − f' (x)}dx

94. If  where f(x) =

A. 

B. 

C. 

In = ∫sinn xdxthennIn − (n − 1)In− 2 = f(x) + c

sinn− 1 x cos x

cosn− 1 x sinx

−sinn− 1 x cos x

https://dl.doubtnut.com/l/_BVMgh175U1SB
https://dl.doubtnut.com/l/_MKVQt35HZM6T
https://dl.doubtnut.com/l/_6EtnsWndgD0H


D. 

Answer: C

Watch Video Solution

−cosn− 1 x sinx

95. Plot the function 

Watch Video Solution

f(x) = max {x, x2, x3}

96. If  is equal to 

A. 44198

B. -0.5

C. 2

D. None of these

Answer: B

∫
dx

x4 + x3
log∣∣

∣
∣∣
∣

+ + + c
x

x + 1

1

x

k

x2

https://dl.doubtnut.com/l/_6EtnsWndgD0H
https://dl.doubtnut.com/l/_cHm1oT48F5hf
https://dl.doubtnut.com/l/_soJMPUOhv4ki


Watch Video Solution

97.  is equal to ?

Watch Video Solution

∫
dx

(1 + √x)√x − x2

98. If  dx = A cos 4x + B, then

A. A = -1/2

B. A = -1/8

C. A = -1/4

D. None of these

Answer: B

Watch Video Solution

∫
cos 4x + 1

cot x − tanx

99. If  then range of f(x) is∫ex(tanx − log cos x)dx = f(x)log secx

https://dl.doubtnut.com/l/_soJMPUOhv4ki
https://dl.doubtnut.com/l/_2rqH8GfQDATK
https://dl.doubtnut.com/l/_sdFgn91rCkUo
https://dl.doubtnut.com/l/_hwNsQwjsXBYB


A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

( − ∞, ∞)

(0, ∞)

(0, − ∞)

100. If  dx =  + c then a, b may be

A. a = 2 , b = 2

B. a = 1, b = 4

C. a = 5 , b = 2

D. a = 3 , b = 1/4

Answer: B

Watch Video Solution

∫
bx cos 4x − a sin 4x

x2

a sin 4x

x

https://dl.doubtnut.com/l/_hwNsQwjsXBYB
https://dl.doubtnut.com/l/_wrSTosyAl8lu


101. if  then  is

A. 44198

B. -1

C. 1

D. None of these

Answer: C

Watch Video Solution

∫ dx = ϕ(x),
e6 logx − e4 logx

e3 logx − e2 logx
ϕ' (1)

102. If , then value of k is

A. 1

B. -0.3333...

C. 44201

∫ = tan− 1 x + + + c
dx

x6 + x4

1

x

k

x3

https://dl.doubtnut.com/l/_wrSTosyAl8lu
https://dl.doubtnut.com/l/_Rj29JvnsA5n1
https://dl.doubtnut.com/l/_ZPHV9Yooaz3c


D. 44199

Answer: B

Watch Video Solution

103.  is

A.  + c

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

∫ {logϕ(x) − logf(x)}dx
f(x)ϕ' (x) − ϕ(x)f' (x)

f(x)ϕ(x)

log
ϕ(x)

f(x)

{log }
2

+ c
1

2

ϕ(x)

f(x)

log[ ] + c
ϕ(x)

f(x)

ϕ(x)

f(x)

104.  is∫
dx

xn(1 + xn)
1
n

https://dl.doubtnut.com/l/_ZPHV9Yooaz3c
https://dl.doubtnut.com/l/_z0ok4No2dXjL
https://dl.doubtnut.com/l/_5L1Fjh5vg565


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

(x−n + 1)
1 −

+ c
1

1 − n

1
n

(x−n + 1)
1 −

+ c
1

n − 1

1
n

(xn + 1)1 − + c
1

1 − n

1
n

105. If  is  where 

 , then k is

A. -2

B. -3

C. -8

D. 6

Answer: D

∫
dx

(x + 1)
3

+ (x + 1)
2

k[t − + − In|t|] + c
t2

2

t3

3

t5 = x + 1

https://dl.doubtnut.com/l/_5L1Fjh5vg565
https://dl.doubtnut.com/l/_npB7SokAZ4Xh


Watch Video Solution

106.  equals

A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

∫ dx
cos3 x + cos5 x

sin2 x + sin4 x

sinx − 6 tan− 1(sinx) + c

sinx − 2(sinx)
− 1

+ c

sinx − 2(sinx)
− 1

+ 5 tan− 1(sinx) + c

107.  is

A. 

B. 

∫
secxdx

[sin(2x + α) + sinα]
1
2

2 secα√tanx cosα + sinα + c

√2 secα√tanx cosα + sinα + c

https://dl.doubtnut.com/l/_npB7SokAZ4Xh
https://dl.doubtnut.com/l/_OY7Q4K2yKJEw
https://dl.doubtnut.com/l/_a4HYar4LsF5U


C. 

D. None of these

Answer: B

Watch Video Solution

secα√tanx cosα + sinα + c
1

√2

108. If  is equal to  then m is

A. 44230

B. 44232

C. 0.4

D. -0.6666666667

Answer: B

Watch Video Solution

∫
cos4 xdx

sin3 x(sin5 x + cos5 x)
3
5

− (1 + cot5 x)
m1

2

https://dl.doubtnut.com/l/_a4HYar4LsF5U
https://dl.doubtnut.com/l/_rI8pOVoOOt5J


109. Let f(x) = x + sin x . Suppose 'g' denotes the inverse function of

'f' . The value of  has the value equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

g ′( + )
π

4

1

√2

√2 − 1

√2 + 1

√2

2 − √2

√2 + 1

110.  is equal to

A. 

B.  + c

C. 

I = ∫ dx
1

cos4 x

2√2(cot x + tan− 1 √2 cot x)

− (√2 cot x + tan− 1(√2 cot x))
1

2√2

2√2(cot x + tan− 1(cot x))

https://dl.doubtnut.com/l/_qEyjOkVBxGut
https://dl.doubtnut.com/l/_WypTXO6LPduc


D. None of these

Answer: D

Watch Video Solution

111. 

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

∫ dx =
x + 5

(x − 1)2(x − 2)

−7 log|x − 1| − + 7 log|x − 2| + c
6

x − 1

−7 log|x − 1| + c

−7 log|x − 1| + + 7 log|x − 2| + c
6

x − 1

112.  is equal to∫ dx
3 + 2 cos x

(2 + 3 cos x)2

https://dl.doubtnut.com/l/_WypTXO6LPduc
https://dl.doubtnut.com/l/_wuFjAqXiMLmF
https://dl.doubtnut.com/l/_BZMRiYKPnCDt


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( ) + c
sinx

3 cos x + 2

( ) + c
cos x

3 sinx + 2

( ) + c
2 cos x

3 cos x + 2

( ) + c
2 sinx

3 cos x + 2

113.  is equal to ?

Watch Video Solution

∫ dx
x2 − 1

(x2 + 1)√x4 + 1

114.  is equal

A. 

B. 

I = ∫ dx
x + x + x

2
3

1
6

x(1 + x )
1
3

x + 6 tan− 1(x ) + c
3

2

2
3

1
6

x − 6 tan− 1(x ) + c
3

2

2
3

1
6

https://dl.doubtnut.com/l/_BZMRiYKPnCDt
https://dl.doubtnut.com/l/_yS1X9Y0LZBfS
https://dl.doubtnut.com/l/_6oqz8wbFqSsK


C. 

D. None of these

Answer: A

Watch Video Solution

x + tan− 1(x ) + c
3

2

2
3

1
6

115.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx
x2 − 1

(x3)√2x4 − 2x2 + 1

+ c
√2x4 − 2x2 + 1

x2

+ c
√2x4 − 2x2 + 1

x3

+ c
√2x4 − 2x2 + 1

x

+ c
√2x4 − 2x2 + 1

2x2

https://dl.doubtnut.com/l/_6oqz8wbFqSsK
https://dl.doubtnut.com/l/_DRYwlebDaQIe


116. The value of the integral  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫esin2 x(cos x + cos3 x)sinxdx

esin2 x(3 − sin2 x) + c
1

2

esin2 x(1 + cos2 x) + c
1

2

esin2 x(3 cos2 x + sin2 x) + c

esin2 x(2 cos2 x + 3 sin2 x) + c

117. 

A.  + c

B.  + c

C. 

D. None of these

∫x|x|dx =

x3

3

x3|x|

3

+ c
x3|x|

2

https://dl.doubtnut.com/l/_5BGVhsSbH8gk
https://dl.doubtnut.com/l/_pZF2TGkPn5oU


Answer: B

Watch Video Solution

118. If , then  is

A. x + c'

B. 2x + c'

C. x/2 + c'

D. 

Answer: C

Watch Video Solution

f(x) = x2
△

2 f(x)

x2 + c'

119. Integral of  w.r.t.x, is

A. 2 In  + c

√1 + 2 cot x(cot x + cos ecx)

∣
∣

∣
∣

cos x
2

https://dl.doubtnut.com/l/_pZF2TGkPn5oU
https://dl.doubtnut.com/l/_cCK0TSTAdk35
https://dl.doubtnut.com/l/_UNkjr4Yyzwh4


B. 2 In  + c

C. 1/2 In  + c

D. In sin x - In (cosec x - cot x) + c

Answer: B

Watch Video Solution

∣
∣
∣

∣
∣
∣

sinx

2

∣
∣

∣
∣

cos x
2

120.  is

A.  + c

B.  + c

C.  + c

D.  + c

Answer: C

Watch Video Solution

∫ dx
e2001x + e1999x

ex + e−x

e2000x

2000

e2000x

2001

e2000x

2000

e2001x

2001

https://dl.doubtnut.com/l/_UNkjr4Yyzwh4
https://dl.doubtnut.com/l/_Pc2gkpdt8jqV
https://dl.doubtnut.com/l/_4hKIaQkFLKQB


121. The primitive of the function f(x) , when  is

A. x sin x + cos x + c

B. x cos x + sin x + c

C. -x sin x - cos x + c

D. x cosx - sin x + c

Answer: C

Watch Video Solution

= x|cos x| x ∈ ( , π)
π

2

122. If  then

A. a = 1/3

B. b = 1

C. 

D. b = -1

∫tan4 xdx = a tan3 x + b tanx + ϕ(x)

ϕ(x) = x + c

https://dl.doubtnut.com/l/_4hKIaQkFLKQB
https://dl.doubtnut.com/l/_5IOLsPpaw9en


Answer: A::C::D

Watch Video Solution

123. If 

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

∫ dx = Ax + B log sin(x − α) + c
sinx

sin(x − α)

A = sinα

B = cosα

A = cosα

B = sinα

124. If  then

A. A = 3/2

∫ dx = Ax + B loge(9e2x − 4) + c
4ex + 6e−x

9ex − 4e−x

https://dl.doubtnut.com/l/_5IOLsPpaw9en
https://dl.doubtnut.com/l/_mwIxYUXDMasg
https://dl.doubtnut.com/l/_LEOAXyXBRMWR


B. B = 35/36

C. c is indefinite

D. A + B = -19/36

Answer: B::C::D

Watch Video Solution

125. If  then

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

∫x log(1 + x2)dx = ϕ(x)log(1 + x2) + ψ(x) + c

ϕ(x) =
1 + x2

2

ψ(x) =
1 + x2

2

ψ(x) =
1 + x2

2

ϕ(x) = −
1 + x2

2

https://dl.doubtnut.com/l/_LEOAXyXBRMWR
https://dl.doubtnut.com/l/_LU9cCxCmofWo
https://dl.doubtnut.com/l/_khToWMDviZVe


126.  where

A. A + B = 0

B. AB = 1

C. A : B = 2

D. None of these

Answer: A

Watch Video Solution

∫ = A log(x + 1) + B log(x − 2) + c
dx

(x + 1)(x − 2)

127. If  , then

A. f(x) = x - 1

B. g(x) =

C. g(x) =

D. f(x) = 2(x - 2)

∫ dx = f(x)√1 + ex − 2Ing(x) + c
xex

√1 + ex

√1 + ex − 1

√1 + ex + 1

√1 + ex + 1

√1 + ex − 1

https://dl.doubtnut.com/l/_khToWMDviZVe
https://dl.doubtnut.com/l/_t3WJ7LQvCpKd


Answer: B::D

Watch Video Solution

128. If , then find A,

B, f(x).

A. A = 1/4 , B = -1/2 , 

B. A = 1/2 , 

C. A = -1/2 , 

D. A = 1/2 , 

Answer: B::D

Watch Video Solution

I = ∫ dx = A cos x + B log|f(x)| + c
sinx + sin3 x

cos 2x

f(x) =
√2 cos x − 1

√2 cos x + 1

B = − √2
3

4

B = , f(x) =
3

√2

√2 cos x + 1

√2 cos x − 1

B = − , f(x) =
3

√2

√2 cos x + 1

√2 cos x − 1

129. If  , then∫ dx = f(x)√1 + ex − 2Ing(x) + c
xex

√1 + ex

https://dl.doubtnut.com/l/_t3WJ7LQvCpKd
https://dl.doubtnut.com/l/_8F3hQJPLHZP5
https://dl.doubtnut.com/l/_RbC6A6tQSTH4


A. 

B. g(x) is continious for all x

C. 

D. g(x) is non differentiable at infinitely many points

Answer: C::D

Watch Video Solution

g( ) =
π

4

3

2

g( ) = −
π

4

15

8

130. The value of  is equal to

A.  if 

B. 0 , if 

C. , if 

D. None of these

Answer: A::B

Watch Video Solution

∫
x

0
dt

(t − |t|)
2

1 + t2

4(x − tan− 1 x), x < 0

x > 0

In(1 + x2) x > 0

https://dl.doubtnut.com/l/_RbC6A6tQSTH4
https://dl.doubtnut.com/l/_PteWFt9iqU4F


131.  where

A. A + B = 0

B. AB = 0

C. A/B = -1

D. None of these

Answer: C

Watch Video Solution

∫ = A log(x + 1) + B log(x + 2) + c
dx

(x + 1)(x + 2)

132. Let f(x) =  and g(x)=  


?

Watch Video Solution

3

3x2 + 9

x2

3x2 + 9

∫(f(x) + g(x))dx =

https://dl.doubtnut.com/l/_PteWFt9iqU4F
https://dl.doubtnut.com/l/_qm7YMHWx2XfQ
https://dl.doubtnut.com/l/_w6onR3pXkTIW


133. Let f(x) =  and g(x)=  


 (g(x) - f(x)) dx is equal to ?

Watch Video Solution

3

3x2 − 9

x2

3x2 − 9

∫

134. If  and 

, then f(2,3) is equal

to

A. 44198

B. 44199

C. 44200

D. 44201

Answer: C

Watch Video Solution

im− 2 ,n+ 2 = ∫sinm− 2 x cosn+ 2 xdx

Im ,n = − + f(m, n)Im− 2 ,n+ 2
sinm− 1 x cosn+ 1 x

n + 1

https://dl.doubtnut.com/l/_Dn6OAro3FzwL
https://dl.doubtnut.com/l/_E6UdI1NNjVLb
https://dl.doubtnut.com/l/_MOZQwIR4TyM6


135. If  and 

 , then the value of f(n) is

equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

In = ∫x sinn xdx

In = − + + f(n)In− 2
x sinn− 1 x cos x

n

sinn x

n2

n − 1

n

n − 2

n − 1

n + 1

n

n + 1

n − 1

136. Match List - I with List-II 

Let the functions defined in List - I have domain  
( − π/2, π/2)

https://dl.doubtnut.com/l/_MOZQwIR4TyM6
https://dl.doubtnut.com/l/_wPgrFypxFuFy


Watch Video Solution

137. Match List - I with List-II 

Let the functions defined in List - I have domain  


Watch Video Solution

( − π/2, π/2)

https://dl.doubtnut.com/l/_wPgrFypxFuFy
https://dl.doubtnut.com/l/_Jc437pddXSBG
https://dl.doubtnut.com/l/_v47UjG3nsHkr


138. If , then the value of 

 must be

Watch Video Solution

∫x = + c
dx

√7x − 10 − x23

λ(7x − 20)

√7x − 10 − x2

lamba

139. If  then the value of  must be

Watch Video Solution

∫ = tan( + a) + b
dx

1 + sinx
x

2
−

16a

π

140. If

, then the value of  must be

Watch Video Solution

∫sin− 1( )dx = (x + 1)tan− 1( ) + λIn(4x2 + 8
2x + 2

√4x2 + 8x + 13

2x + 2

3

−4λ

141. If

 ,∫(x9 + x6 + x3)(2x6 + 3x3 + 6) dx = (2x9 + 3x6 + 6x3) + c
1
3

1

a

4
3

https://dl.doubtnut.com/l/_v47UjG3nsHkr
https://dl.doubtnut.com/l/_SZ7YSLBiCDi3
https://dl.doubtnut.com/l/_h0HYfFHcLWAX
https://dl.doubtnut.com/l/_RT5wlxZFd61P


then the value of a/4 must be

Watch Video Solution

142. If  , then the

value of  must be

Watch Video Solution

∫(√tanx + √cot x)dx = a tan− 1( ) + c
tanx − 1

√b tanx

√a4 + b5

143. Evaluate : 

Watch Video Solution

∫
dx

7x − 10 − x2

144. Evaluate : 

Watch Video Solution

∫
xdx

√1 + x4

https://dl.doubtnut.com/l/_RT5wlxZFd61P
https://dl.doubtnut.com/l/_iMGAbjVpTAoV
https://dl.doubtnut.com/l/_Fu8uboA5VRcB
https://dl.doubtnut.com/l/_o1jqjt83UwL7


145. Evaluate : 

Watch Video Solution

∫
dx

√e
5x

⋅ 4√e2x + e− 2x3

146. Evaluate : 

Watch Video Solution

∫
log 5

0

dx
ex(ex − 1)

1
2

ex + 3

147. Evaluate : , then find the value of 

Watch Video Solution

∫
2

1

(ex
2
)dx = a ∫

e4

e

2√loge xdx

148. 

Watch Video Solution

∫ dx
1

sin(x − a)cos(x − b)

https://dl.doubtnut.com/l/_qgbnw0hwjWbd
https://dl.doubtnut.com/l/_MLE1fV9Vti98
https://dl.doubtnut.com/l/_lq7Ym8kRQ8T7
https://dl.doubtnut.com/l/_iRFoSavBrVWr


149. The value of , where  is greatest integer function is.....

Watch Video Solution

∫
3

0
[x]dx [x]

150. Evaluate: 

Watch Video Solution

∫x2 sinxdx

151. Evaluate : 

Watch Video Solution

∫ 3√tanxdx

152. If  show that 

Watch Video Solution

Im ,n = ∫cosm x ⋅ cos nx ⋅ dx

(m + n)Im ,n = cosm x ⋅ sinnx + mIm− 1 ,n− 1

https://dl.doubtnut.com/l/_xLhfGY0CVXQY
https://dl.doubtnut.com/l/_rOhPQH0C6ftn
https://dl.doubtnut.com/l/_235LjeH6Gv5W
https://dl.doubtnut.com/l/_rFYrfKwA6T3o


153.  =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx
cos √x

√x

sin √x + c

2 cos √x + c

2 sin √x + c

+ c
√cos x

x

154.  =?

A. 

B. 

C. 

D. 

∫ dx
tan(logx)

x

log|cos(logx)| + c

log|sin(logx)| + c

log|sec(logx)| + c

−log|tan(logx)| + c

https://dl.doubtnut.com/l/_jwQhKX726hbR
https://dl.doubtnut.com/l/_CaSQBX372zgs


Answer: C

Watch Video Solution

155. =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
exdx

e2x + 1

log(ex + e−x) + c

log(e2x + 1) + c

tan− 1(ex) + c

tan− 1(2ex) + c

156. =

A. 

∫ dx
2 sin− 1 x

√1 − x2

√1 − x2 sin− 1 x + c

https://dl.doubtnut.com/l/_CaSQBX372zgs
https://dl.doubtnut.com/l/_FbYpFqjIAKKL
https://dl.doubtnut.com/l/_RN8WWeiFTf6N


B. 

C. 

D. 

Answer:

Watch Video Solution

x sin− 1 x + c

x − √1 − x2 sin− 1 x + c

(sin− 1 x)
2

+ c

157.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I = ∫ dx
loge(loge x)

x(loge x)

√loge loge x + c
1

2

(loge loge x)2 + c
1

2

loge loge x + c
1

2

(loge x)2 + c

https://dl.doubtnut.com/l/_RN8WWeiFTf6N
https://dl.doubtnut.com/l/_bja0TtTYcqzD
https://dl.doubtnut.com/l/_csfGh32gcJSW


158.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I = ∫ dx
(10x9 + 10x loge 10)

(x10 + 10x)

10x + x10 + c

10x − x10 + c

10x + x10

loge∣∣10x + x10∣∣ + c

159.  is equal to

A. 

B. 

C. 

D. 

∫
dx

x logx log(logx)

log|log(logx)| + c

log(logx) + c

log|log(log (1/x))| + c

log|(logx)| + c

https://dl.doubtnut.com/l/_csfGh32gcJSW
https://dl.doubtnut.com/l/_7SdKnzPvBkS2


Answer: A

Watch Video Solution

160. = ?

Watch Video Solution

∫
xdx

√1 − x3

161.  is equal to

A. (e^(2x)-e^(-2x))/2+c`

B. 

C. (e^x-e^(-2x))/2+c`

D. 

Answer: D

Watch Video Solution

I = ∫ dx
ex

(ex + 1)1 / 4

(ex + 1)3 / 2 + c
2

3

(ex + 1)3 / 4 + c
4

3

https://dl.doubtnut.com/l/_7SdKnzPvBkS2
https://dl.doubtnut.com/l/_YtUwghz8jC6o
https://dl.doubtnut.com/l/_gZpwSOa2J3kX


162.  is equal to ?

A. `

B. 

C. 

D. 

Answer:

Watch Video Solution

I = ∫ dx
cos 4x + 1

cot x − tanx

163.  + c

A. 1

B. 2

C. 3

D. 5

∫ = k log
∣
∣
∣
tan− 1( )

∣
∣
∣

(x2 − 1)dx

(x4 + 3x2 + 1)tan− 1( )x2 + 1
x

x2 + 1

x

https://dl.doubtnut.com/l/_8p9J4AnpR1mb
https://dl.doubtnut.com/l/_Vfx531Gxu8Pc


Answer: A

Watch Video Solution

164. If

, then

A. g(x)=1+sin2x

B. g(x)=1-sin2x

C. g(x)=1+cos2x

D. 

Answer: A

Watch Video Solution

I = ∫ dx = cos ec− 1(g(x)) +
sinx − cos x

(sinx + cos x)√sinx cos x + sin2 x cos2 x

1

4

−1 ≤ g(x) ≤ 1

165. =?∫x3ex
2
dx

https://dl.doubtnut.com/l/_Vfx531Gxu8Pc
https://dl.doubtnut.com/l/_8BhCVtDcKIUa
https://dl.doubtnut.com/l/_MK7I8l1MGvv4


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2(ex
2

− 1) + c

x2(ex
2

− 1) + c
1

2

ex
2
(x2 − 1) + c

1

2

(ex
2

− 1) + c
1

2

166. =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫x tan− 1 xdx

( )tan− 1 x − + c
x2 + 1

2
x

2

( )tan− 1 x − x + c
x2 + 1

2

(x2 + 1)tan− 1 x − x + c

(x2 + 1)tan− 1 x + x + c

https://dl.doubtnut.com/l/_MK7I8l1MGvv4
https://dl.doubtnut.com/l/_N0QZTtmxkYlT


167. = ?

Watch Video Solution

∫ dx
sinx

1 + cos x

168.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I = ∫(loge x)2
dx

x loge x(loge x + 2) + c

x loge x(2 loge x + 1) + c

x[(loge x)2 − 2(loge x) + 2] + c

x{(loge x)2 − 2(loge x − 2)} + c

169.  is equal toI = ∫sin− 1( )dx
2x

1 + x2

https://dl.doubtnut.com/l/_N0QZTtmxkYlT
https://dl.doubtnut.com/l/_rTOiwUWYfgJD
https://dl.doubtnut.com/l/_2gf9QDCo7lYg
https://dl.doubtnut.com/l/_iu0Oj8CjFnhS


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x tan− 1(x) − log∣∣x
2 + 1∣∣ + c

2x[tan− 1(x) − log∣∣x
2 + 1∣∣] + c

2x tan− 1(x) + log∣∣x
2 + 1∣∣ + c

tan− 1 x − log|x + 1| + c

170.  is equal to

A. 

B. 

C. 

D. 

Answer: A

∫ex(tan− 1 x + )dx
2x

(1 + x2)2

ex(tan− 1 x − ) + c
1

(1 + x2)2

ex(tan− 1 x + ) + c
1

(1 + x2)2

ex(cot − 1 x + ) + c
1

(1 + x2)
2

ex(cot − 1 x − ) + c
1

x

https://dl.doubtnut.com/l/_iu0Oj8CjFnhS
https://dl.doubtnut.com/l/_jFDWDyRm1872


Watch Video Solution

171.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I = ∫√1 + 2 tanx(secx + tanx)dx

loge∣∣sec2 x + tanx secx∣∣ + c

loge|1 + tanx(secx + tanx)| + c

loge|sinx(secx − tanx)| + c

loge∣∣secx + tan2 x∣∣ + c

172.  =?

Watch Video Solution

∫tan2 xdx

173.  is equal to∫(In(1 + cos x) − x tan( ))dx
x

2

https://dl.doubtnut.com/l/_jFDWDyRm1872
https://dl.doubtnut.com/l/_PVccN5pw6eMr
https://dl.doubtnut.com/l/_9OTHXetoIu3l
https://dl.doubtnut.com/l/_YesMhbESBozg


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

xIn(1 + cos x) + c

xIn(1 + secx) + c

x2In(1 + cos x) + c

xIn tanx + c

174.  is equal

A. sin2x+c

B. 

C. 

D. 

Answer: C

Watch Video Solution

I = ∫ dx
(sin8 x − cos8 x)

1 − 2 sin2 x cos2 x

+ c
sin 2x

2

+ c
−sin 2x

2

sin 2x + c
2

3

https://dl.doubtnut.com/l/_YesMhbESBozg
https://dl.doubtnut.com/l/_C6JNkMEWtF0X


175.  is equal to

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∫
dx

x + √a2 − x2

sin− 1( ) + In√x + √a2 − x2 + c
1

2
x

a

sin− 1( ) + In√x√a2 − x2 + c
1

2
x

a

sin− 1( ) + In√a + √a2 − x2 + c
1

2
x

a

176. 

A. 

B. 

C. 

∫
dx

√x + x

2 log∣∣1 + √x∣∣ + c

log∣∣√x + 1∣∣ + c

2 log∣∣√x − 1∣∣ + c

https://dl.doubtnut.com/l/_C6JNkMEWtF0X
https://dl.doubtnut.com/l/_ZBSlFw71VVrd
https://dl.doubtnut.com/l/_VjjJfwsOKJTz


D. 

Answer: A

Watch Video Solution

log|x + 1| + c

177.  is equal to ?

Watch Video Solution

∫√ dx
x

1 + x3

178.  is equal to

A. 

B. 

C. 

D. 

Answer: B

∫ dθ
cos 2θ

(sin θ + cos θ)
2

+ c
−1

sin θ + cos θ

log|sin θ + cos θ| + c

log|sin θ − cos θ| + c

log(sin θ + cos θ)
2

+ c

https://dl.doubtnut.com/l/_VjjJfwsOKJTz
https://dl.doubtnut.com/l/_3CfDJTkGYWe4
https://dl.doubtnut.com/l/_CcFuDbYmwn3f


Watch Video Solution

179. If 

A. 7P+2Q=1

B. 7P-2Q=1

C. 7P+2Q=0

D. 2P+7Q=0

Answer: D

Watch Video Solution

∫ dx = P log|x| + Q log∣∣x
7 + 1∣∣ + c

(1 − x7)

x(1 + x7)

180. If  then f(x) can be

A. x

B. 1

C. cosx

∫f(x)cos xdx = f 2(x) + c
1

2

https://dl.doubtnut.com/l/_CcFuDbYmwn3f
https://dl.doubtnut.com/l/_q4LY4NffGbzs
https://dl.doubtnut.com/l/_3xqdlhz2CO8m


D. sinx

Answer: D

Watch Video Solution

181.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I = ∫ dx
dx

1 + ex

loge
∣
∣
∣

∣
∣
∣

+ c
1 + ex

ex

loge
∣
∣
∣

∣
∣
∣

+ c
ex

1 + ex

loge|(ex)(1 + ex)| + c

loge∣∣(e2x + 1)∣∣ + c

182.  is equal toI = ∫sec2 / 3 x cos ec4 / 3xdx

https://dl.doubtnut.com/l/_3xqdlhz2CO8m
https://dl.doubtnut.com/l/_vfAQ2EvxISaQ
https://dl.doubtnut.com/l/_OwrulepTDpO4


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3 tan1 / 3 + c

−3 cot1 / 3 + c

−3 tan1 / 3 + c

3 cot1 / 3 + c

183.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
dx

√2x − x2

sin− 1(1 − x) + c

−cos − 1(1 − x) + c

sin− 1(x − 1) + c

cos − 1(x − 1) + c

https://dl.doubtnut.com/l/_OwrulepTDpO4
https://dl.doubtnut.com/l/_ToBueE1jz6yO


184.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx
x2ex

(x + 2)
2

( )ex + c
x − 1

x + 2

( )ex− 1 + c
x − 2

x + 2

( )ex + c
x − 2

x + 2

( )ex + c
x + 1

x − 2

185. The value of the integral  can be

Watch Video Solution

∫ dx
sin( )x

2

√1 + sin( )x
2

https://dl.doubtnut.com/l/_ToBueE1jz6yO
https://dl.doubtnut.com/l/_dRqoh8joH6Hm
https://dl.doubtnut.com/l/_A60lPRD1Hklo


186. The value of the integral  can be

A. 

B. 

C. 

D. sin2x-sin3x+c

Answer: A

Watch Video Solution

∫ dx
cos 7x − cos 8x

1 + 2 cos 5x

− + c
sin 2x

2

sin 3x

3

+ + c
sin 5x

5

cos 5x

4

− + c
cos x

3
sin 4x

2

187. =

A. 

B. 

C. 

D. 

∫
dx

√1 − 2x + √3 − 2x

{ − } + c
1

2

1

√1 − 2x

1

√3 − 2x

{(1 − 2x)3 / 2 − (3 − 2x)3 / 2} + c
1

6

{(1 − 2x)3 / 2 + (3 − 2x)3 / 2} + c
1

6

{(1 − 2x)3 / 2 + (3 − 2x)3 / 2} + c
1

2

https://dl.doubtnut.com/l/_oPDOzQzEOBoS
https://dl.doubtnut.com/l/_K6oK1TGp3EbW


Answer: B

Watch Video Solution

188. =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫[cos(2x − )]
− 2

dx
π

4

tan(2x − ) + c
1
2

π

4

cot(2x − ) + c
1
2

π

4

tan(2x + ) + c
1
2

π

4

tan(x + ) + c
π

4

189.  is equals

A. 

∫( )sec2 xdx
x2 + sin2 x

1 + x2

tan− 1 x + tanx + c

https://dl.doubtnut.com/l/_K6oK1TGp3EbW
https://dl.doubtnut.com/l/_ReGobHIIFx9X
https://dl.doubtnut.com/l/_ZbANYviLdegg


B. 

C. 

D. 

Answer: D

Watch Video Solution

tan− 1 x − tanx + c

tan− 1 x + x + c

tanx − tan− 1 x + c

190. If n is an odd positive integer then  is equal to

Watch Video Solution

∫ |xn|dx

191. =

Watch Video Solution

∫ dx
sin2 x − cos2 x

sin2
x ⋅ cos2 x

192. =∫
dx

x − x3

https://dl.doubtnut.com/l/_ZbANYviLdegg
https://dl.doubtnut.com/l/_g8rjv01Kcxld
https://dl.doubtnut.com/l/_MZgahCAQwPLQ
https://dl.doubtnut.com/l/_11OPHjKJFS4T


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

log
∣
∣
∣

∣
∣
∣

+ c
1

2
x2

1 − x2

log
∣
∣
∣

∣
∣
∣

+ c
1

2
1 − x2

x2

log
∣
∣
∣

∣
∣
∣

+ c
(1 − x)

x(1 + x)

log∣∣x(1 − x2)∣∣ + c

193.  equals

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
dx

(x − 2)
7 / 8

(x + 3)
9 / 8

( )
1 / 8

+ c
8

5

x − 2

x + 3

( )
1 / 8

+ c
5

8

x − 2

x + 3

( )
1 / 8

+ c
5

8

x + 3

x − 2

( )
1 / 8

+ c
8

5

x + 3

x − 2

https://dl.doubtnut.com/l/_11OPHjKJFS4T
https://dl.doubtnut.com/l/_AEGcRYmYhdqO


Watch Video Solution

194. The value of the integral  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫(x2 + x)(x− 8 + 2x− 9)
1 / 10

dx

(x2 + 2x)
11 / 10

+ c
5

11

(x + 1)11 / 10 + c
5

6

(x + 1)11 / 10 + c
6

7

(x + 1)11 / 10 + c
1

11

195. If

then

A. 

I = ∫x loge(1 + )dx = p(x)ln(1 + ) + x − , ln(1 + x) + c
1

x

1

x

1

2

1

2

p(x) = x21

2

https://dl.doubtnut.com/l/_AEGcRYmYhdqO
https://dl.doubtnut.com/l/_eceTdMhHie0N
https://dl.doubtnut.com/l/_AnAWBrKqR3Ky


B. p(x)=0

C. p(x)=1

D. p(x)=x/2

Answer: A

Watch Video Solution

196. If ,


then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ = f(g(x)) + c
2dx

((x − 5) + (x − 7))√(x − 5)(x − 7)

f(x) = sin− 1 x, g(x) = √(x − 5)(x − 7)

f(x) = sin− 1 x, g(x) = (x − 5)(x − 7)

f(x) = tan− 1 x, g(x) = √(x − 5)(x − 7)

f(x) = tan− 1 x, g(x) = (x − 5)(x − 7)

https://dl.doubtnut.com/l/_AnAWBrKqR3Ky
https://dl.doubtnut.com/l/_IroSceoNITC7


197. The value of  is equal to ?

Watch Video Solution

∫ dθ
1

sin θ + cos θ

198. =?

Watch Video Solution

∫
x3dx

1 + x8

199. =

A. 

B. 

C. 

D. 

Answer: C

W h Vid S l i

∫ dx
cos 2x

cos x

2 sinx + log|secx + tanx| + c

2 sinx − log|secx − tanx| + c

2 sinx − log|secx + tanx| + c

2 sinx + log|secx − tanx| + c

https://dl.doubtnut.com/l/_IroSceoNITC7
https://dl.doubtnut.com/l/_9aUWBuoHACm0
https://dl.doubtnut.com/l/_Vc7VUxGKLdAj
https://dl.doubtnut.com/l/_BeWX34EjzCyl


Watch Video Solution

200. 

A. sin2x+c

B. 1/2 sin2x+c

C. -1/2 sin2x+c

D. 2/3 sin2x+c

Answer: c

Watch Video Solution

∫ dx
sin8 x − cos8 x

1 − 2 sin2 x cos2 x

201.  is

Watch Video Solution

∫2x(f' (x) + f(x)log 2)dx

202.  is equal toI = ∫cos3(2θ)dθ

https://dl.doubtnut.com/l/_BeWX34EjzCyl
https://dl.doubtnut.com/l/_MHLXikqZiEMP
https://dl.doubtnut.com/l/_y7pf2ZPDVziR
https://dl.doubtnut.com/l/_zHksHML6fPBF


A. 

B. 

C. 

D. none of these

Answer: B::C

Watch Video Solution

(secθ tan θ) + loge √secθ + tan θ + c
1

2

(sec 2θ tan 2θ) + loge √sec 2θ + tan 2θ + c
1

4

1

2

(sec2 2θ sin 2θ) + loge
4√sec 2θ + tan 2θ + c

1

4

1

2

203.  is equal to

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

I = ∫ dx
ex(1 + sinx)

1 + cos x

ex tan( ) + c
x

2

+ c
ex

cot(x/2)

ex cot( ) + c
x

2

+ c
ex

tan(x/2)

https://dl.doubtnut.com/l/_zHksHML6fPBF
https://dl.doubtnut.com/l/_pnj7YTAvusnf


204. If , then f(x) is equal to

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

∫√ dx = f(x) + c
cos x − cos3 x

(1 − cos3 x)

sin− 1(cos3 / 2 x)
2

3

sin− 1(cos3 / 2 x)
3

2

cos − 1(cos3 / 2 x)
2

3

− sin− 1(cos3 / 2 x)
2

3

205.  is equal to

A. 

B. 

C. 

∫
dx

x(xm + 1)

loge
∣
∣
∣

∣
∣
∣

+ c
1

n

xm

xm + 1

− loge
∣
∣
∣

∣
∣
∣

+ c
1

n

xm + 1
xm

loge
∣
∣
∣

∣
∣
∣

+ c
xm

xm + 1

https://dl.doubtnut.com/l/_pnj7YTAvusnf
https://dl.doubtnut.com/l/_lrGisGdafRwG
https://dl.doubtnut.com/l/_8bbwmanX4KZr


D. none of these

Answer: A::B

Watch Video Solution

206. If , then

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

∫x log(1 + x2)dx = A(x) ⋅ log(1 + x2) + B(x) + c

A(x) =
(1 + x2)

2

B(x) =
(1 + x2)

2

A(x) = −
(1 + x2)

2

B(x) = −
(1 + x2)

2

207. ∫
dx

sinx + √3 cos x

https://dl.doubtnut.com/l/_8bbwmanX4KZr
https://dl.doubtnut.com/l/_ftRDIyQJpDin
https://dl.doubtnut.com/l/_IHAG7fUPmAwg


Watch Video Solution

208. If , then

A. 

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

∫ dx = λ cos x + μ log|f(x)| + c
sinx + sin3 x

cos 2x

λ = , μ = − , f(x) =
1

2

1

2

√2 cos x + 1

√2 cos x − 1

λ = , μ = − , f(x) =
1

2

3

4√2

√2 cos x − 1

√2 cos x + 1

λ = , μ = − , f(x) =
1

2

3

√2

√2 cos x + 1

√2 cos x − 1

λ = , μ = − , f(x) =
1

2

3

4√2

√2 cos x + 1

√2 cos x − 1

209. If  , then

A. 

B. 

C. 

∫ dx = f(x)√1 + ex − 2Ing(x) + c
xex

√1 + ex

f(x) = √1 + ex

g(x) =
√1 + ex − 1

√1 + ex + 1

g(x) =
√1 + ex + 1

√1 + ex − 1

https://dl.doubtnut.com/l/_IHAG7fUPmAwg
https://dl.doubtnut.com/l/_NDTofXimJGRO
https://dl.doubtnut.com/l/_3Kq0yVMho5Fw


D. 

Answer: A::B

Watch Video Solution

ex + 1

210. If , then

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

∫sin(logx)dx = f(x)(sin g(x) − cosh(x)) + c

lim
x→ 2

f(x) = 1

g(e3) = 3

h(e5) = 5

lim
x→ 1

= 1
g(x)

h(x)

https://dl.doubtnut.com/l/_3Kq0yVMho5Fw
https://dl.doubtnut.com/l/_3Qhe85tKPFGM


211. If 


, then

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

∫sin− 1 √ dx = f(x)sin− 1 √ − √x +
x

1 + x

x

1 + x

(hog)(x) + c

f(x) = x

g(x) = √x + 1

h(x) = tan− 1 x

g(x) = √x

212. Let f(x) be a polynomial satisfying f(0)=2, f'(0)=3 and f''(x)=f(x).

Answer the following the question based on above passage:

Which of the following is true:?

A. 

B. 

f' (x) = √{f(x)}
2

− 5

f' (x) = √{f(x)}
2

+ 5

https://dl.doubtnut.com/l/_rN4L3SaMvnl3
https://dl.doubtnut.com/l/_YcHqiebv3KHL


C. f'(x)=f(x)

D. none of these

Answer: B

Watch Video Solution

213. Let f(x) be a polynomial satisfying f(0)=2, f'(0)=3 and f''(x)=f(x).

Answer the following the question based on above passage:

f(x) is given by

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5(ex − e−x)

5(ex + e−x)

( )
5ex − e−x

2

(ex + e−x)
5

2

https://dl.doubtnut.com/l/_YcHqiebv3KHL
https://dl.doubtnut.com/l/_40YJj39w3xTH


214. Let n be a positive interger such that 


Answer the following the question based on above passage:

The value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

In = ∫xn√a2 − x2dx

I1

(a2 − x2)
1 / 22

3

(a2 − x2)
3 / 21

3

− (a2 − x2)
3 / 22

3

− (a2 − x2)
3 / 21

3

215. Let n be a positive interger such that 


Answer the following the question based on above passage:

The value of the expression  is equal to

In = ∫xn√a2 − x2dx

∫ a

0 x4√a2 − x2dx

∫ a

0 x2√a2 − x2dx

https://dl.doubtnut.com/l/_40YJj39w3xTH
https://dl.doubtnut.com/l/_d11rAbkevd3r
https://dl.doubtnut.com/l/_nkFc1AIZyLWL


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

a2

6

3a2

2

3a2

4

a2

2

https://dl.doubtnut.com/l/_nkFc1AIZyLWL


216. Match List-I with List-II

Watch Video Solution

217. Match List - I with List-II 

Let the functions defined in List - I have domain  
( − π/2, π/2)

https://dl.doubtnut.com/l/_uwI2rjT2E0Lt
https://dl.doubtnut.com/l/_6IhlktiqhrHz


Watch Video Solution

218. If  , then the

value of  must be

Watch Video Solution

∫(√tanx + √cot x)dx = a tan− 1( ) + c
tanx − 1

√b tanx

√a4 + b5

219. If  then the last

digit of  must be

Watch Video Solution

∫( )dx = − + c
cos 8x − cos 7x

1 + 2 cos 5x

sin 3x

a

sin 2x

b

(ab)
4

https://dl.doubtnut.com/l/_6IhlktiqhrHz
https://dl.doubtnut.com/l/_pckJ0pqsWwlW
https://dl.doubtnut.com/l/_7tXgmogfhACV
https://dl.doubtnut.com/l/_zginsOXQ9YS7


220. If , then find the value of a.

Watch Video Solution

∫ dx = a cos 8x + c
1 + cos 8x

tan 2x − cot 2x

221. If , then

find A-B

Watch Video Solution

∫ dx = A√1 − 9x2 + B(cos − 1 3x)
3

+ C
x + (cos − 1 3x)

2

√1 − 9x2

222. If , then find the value of a.

Watch Video Solution

∫ dx = a sin 2x + c
sinx8 − cos x8

1 − 2sinx2cos x2

223. Evaluate 

Watch Video Solution

∫
dx

(2x − x2)3 / 2

https://dl.doubtnut.com/l/_zginsOXQ9YS7
https://dl.doubtnut.com/l/_x8xFGlAkuQXf
https://dl.doubtnut.com/l/_if14hjZEvY2n
https://dl.doubtnut.com/l/_VSFrwFIakts0
https://dl.doubtnut.com/l/_A80SwAZnI5Wk


224. Evaluate

Watch Video Solution

∫ dx
√cos 2x

sinx

225. Evaluate

Watch Video Solution

∫
dx

cos x + cos ecx

226. Evaluate

Watch Video Solution

∫√secx − 1dx, 0 < x <
π

2

227. Evaluate

Watch Video Solution

∫ , x > 0
dx

x2(x4 + 1)
3 / 4

228. Evaluate∫cos 2θ log( )dθ
cos θ + sin θ

cos θ − sin θ

https://dl.doubtnut.com/l/_A80SwAZnI5Wk
https://dl.doubtnut.com/l/_DCdQpVJMlZuH
https://dl.doubtnut.com/l/_FElPrFG8Ry33
https://dl.doubtnut.com/l/_ZZS5ouuNJJUM
https://dl.doubtnut.com/l/_adk6E6OfqEyu


Watch Video Solution

229. Evaluate

Watch Video Solution

∫cos(2 cot − 1 √ )dx, − 1 < x ≤ 1
1 − x

1 + x

230. Evaluate

Watch Video Solution

∫
2xdx

1 + x4

231. Find the value of 

Watch Video Solution

∫ dx =
sinx + cos x

sin(x − α)

232. Evaluate

Watch Video Solution

∫ dx
x − 1

(x + 1)√x3 + x2 + x

https://dl.doubtnut.com/l/_adk6E6OfqEyu
https://dl.doubtnut.com/l/_RKMyzrqjsBZb
https://dl.doubtnut.com/l/_jvDALQgOiNgR
https://dl.doubtnut.com/l/_nL5dHJUebIbm
https://dl.doubtnut.com/l/_GuaHynx0KOJz
https://dl.doubtnut.com/l/_BncpqAS0VJJ5


233. The integral  is equal to: 


where C is an arbitrary constant.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∫ dx
2x12 + 5x9

(x5 + x3 + 1)3

+ C
−x10

2(x5 + x3 + 1)
2

+ C
−x5

(x5 + x3 + 1)
2

+ C
x10

2(x5 + x3 + 1)2

+ C
x5

2(x5 + x3 + 1)

234.  is equal to ?

Watch Video Solution

∫ dx
log √x

3x

235.  is equal to∫2x(f' (x) + f(x)log 2)dx

https://dl.doubtnut.com/l/_BncpqAS0VJJ5
https://dl.doubtnut.com/l/_m61MM0S0rTXT
https://dl.doubtnut.com/l/_8Y0sL2y7ksO3


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2xf' (x) + c

2x log 2 + c

2xf(x) + c

2x + c

236. The integral  equals:

A. 

B. 

C. 

D. 

Answer:

W t h Vid S l ti

∫
dx

x2(x4 + 1)
3
4

(x4 + 1) + c
1
4

−(x4 + 1) + c
1
4

−( ) + c
x4 + 1

x4

1
4

( ) + c
x4 + 1

x4

1
4

https://dl.doubtnut.com/l/_8Y0sL2y7ksO3
https://dl.doubtnut.com/l/_0oUPsCksgUm2


Watch Video Solution

237. The value of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∫
(x − 2)dx

{(x − 2)
2
(x + 3)

7}
1 / 3

( )
4 / 3

+ c
3

20

x − 2

x + 3

( )
3 / 4

+ c
3

20

x − 2

x + 3

( )
4 / 3

+ c
5

12

x − 2

x + 3

( )
5 / 3

+ c
3

20

x − 2

x + 3

238. The integral  is equal to

A. 

B. 

∫(1 + x − )ex+ dx
1

x

1
x

(x + 1)ex+ + c
1
x

−xex+ + c
1
x

https://dl.doubtnut.com/l/_0oUPsCksgUm2
https://dl.doubtnut.com/l/_MA7NC7PHkDDZ
https://dl.doubtnut.com/l/_cTSXPTzRAvER


C. 

D. 

Answer:

Watch Video Solution

(x − 1)ex+ + c
1
x

xex+ + c
1
x

239. If ∫f(x) dx =Ψ(x) , then ∫x^5 f(x^3) dx is equal to

A. 

B. 

C. 

D. 13x3Ψ(x3)−3∫x3Ψ(x3)dx+C

Answer:

Watch Video Solution

x3Ψ(x3) − ∫x2Ψ(x3)dx + C
1

3

[x3Ψ(x3) − ∫x3Ψ(x3)dx] + C
1

3

[x3Ψ(x3) − ∫x2Ψ(x3)dx] + C
1

3

https://dl.doubtnut.com/l/_cTSXPTzRAvER
https://dl.doubtnut.com/l/_aMsvrS2NVM1D


240. If the integral , then

a is equal to

A. -1

B. -2

C. 1

D. 2

Answer:

Watch Video Solution

∫ dx = x + aIn|sinx − 2 cos x| + k
5 tanx

tanx − 2

241. The integral  equals (for some arbitrary

constant K)

A. 

B. 

∫ dx
sec2 x

(secx + tanx)9 / 2

− { − (secx + tanx)2} + K
1

(secx + tanx)9 / 2

1

11

1

7

{ − (secx + tanx)2} + K
1

(secx + tanx)9 / 2

1

11

1

7

https://dl.doubtnut.com/l/_HOvtcEDOIaeN
https://dl.doubtnut.com/l/_vKJKHYXlbeSA


C. 

D. 

Answer:

Watch Video Solution

− { + (secx + tanx)2} + K
1

(secx + tanx)9 / 2

1

11

1

7

{ + (secx + tanx)2} + K
1

(secx + tanx)9 / 2

1

11

1

7

https://dl.doubtnut.com/l/_vKJKHYXlbeSA

